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Question 1- The average weight of 10 person 1s increased by 0.5 kg
when a person of weight 60 kg 1s replaced by a new person. Find the

weight of new person.
T 1- T8 60 ThH] oI Tt A 1<h ohl fohdt AU sfh gRT STd€ermiud foraT
STTAT & dl 10 s31<h okl 31Ed IS 0.5 forUT sIg STTaT 81 9U S ih T 9514

RIS S
3 .65 kg
\ B. 62 kg
C.58 kg
D.56 kg
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Question 2- A and B started a business investing amounts of Rs. 35,000
and Rs. 56,000 respectively. In A’s share 1n the profit earned by them 1s
Rs. 45,000, then what 1s the total profit earned?

57 2- A 3T B 7 3RHIT: 35,000 T 3R 56,000 T 2 TIRT T (AT hieh Teh
SO Y& TRl 3ok ST SATSId ATH H A 3 {560 H 45,000 ¥4 €, T 3AfS{d

S’M b %? A.Rs 112000
Freff(ctey )= Gty FRROK Ty ) s 1170w
D.Rs 121000
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Question 3- If 12.5% of a number is 40 then find the number.
T 3- Ife fordt G&TT Al 12.5%340%& HEIT JTd ShITSIU)

R
o
e 3
= NG
o i A.200
B. 100
d= foxd (320
& ?g D.110
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Question 4- The population of a town 1s 6,000. It increases first 10% and

further increased by 30%. Find the total population at present.
T 4- Ueh ITaL ol MAHM@ | T8 U8 10% F&dT & 3 fht 30% ¢

STTT 81 SHT H el SHEEAT J1d shiT>g|

M/ VHB@&H 100 \BO/

e A.7780
SE B. 7980
LC8580

D.7580
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Question 5- On a certain sum of money the compound interest for 2 years
at 20% per annum 1s R Find the principal.

T 5- Ueh HT3d GRTRT X 20% Jd 9 ohl & 2 991 o ofT =Isha g sATS!
1320 F9 2| GIRT 3T IT ST

T = X4t It

100 A.Rs 1800
B. Rs 2200

C.Rs 2500

«D.Rs 2000
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Question 6- The ratio between the speed of a man, woman and a child is
4:5:7. If the there average speed 1s 48 km.hr then find average speed of

man and _E_}}i’l__d.

St S e

T 6- Teh T&, HIGelT S Teh oo shi 1 o siiel ol STAATT 4: 5: 7 1 AfS
3T T 48 km.hr &, dT SAIGHT AT 5=l T 37erd TTfd 77T shifra)

AW%}Q( 3‘\31-() &/ma{ Q({)qujlﬁm (516}%\ dh‘[(:\lp] ) A.405 km/hr

R e B. 50 km/hr

[ot) mo-of by (5 IR 445 kv

P 49.5 km/hr
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Question 7- Two successive discounts are 20% and 25%. Find the single

equivalent discount percentage.

(N e\

T 7- 3 SHANTA B 20% AR 25% &l Tohel HHIH B T2 1l shiTori)

A. 455 0y
B. 35%
C.45%
D.50%
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Question 8- A person sells an article for Rs 2400 and incurred a loss of
20%. Find the cost price of article.

T 8- Teh STtk Ueh o bl 2400 T H SI=idT & 3T 3 20% 3T T &It 2

& T ShI Hod T shifsIu|
O S >N

A.Rs 2800
B.Rs 3200
—€"Rs 3000
D.Rs 2000
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Question 9- A person sells an article at 20% loss. If he sells 1t Rs 400 more

then he will gain 30%. Find the cost price of article.
T 9- Ueh SFich Ueh A& 3l 20% BT YL SI=id] & Ale I8 36400 &0

SI=IdT & Al 36 30% 1 AT BT & 3T 3T Hod T shifSIq

Qo+
] 307= 3 Hoo A.Rs 400
30
(P> 100y< Q¥loo il
S D.Rs 900
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Question 10- On selling an article for Rs 300 the loss 1s same as profit

when the same article 1s sold for Rs 500. Find the cost price of article.

T 10- Th ol%gﬁadﬁ 9L BT AT o FHTH & STo ST o =i 500

(@

NIIORAN o\
&0 H ST Il 8] 5% o 569 Hedl 14 shifSy)

A.Rs 400
B. Rs 800
C.Rs 600
D.Rs 900
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Question 11- A certain sum of money becomes double of itself if 5 year. In

U 2 | T\fl how much time it becomes 8 times of itself with same rate of simple
interest.
T 11-Ffe 5 8 3t ST H Teh (Hi2d G-I 3799 3179 AT &1 STt &) |remoT

STST o THT &L § I8 fohe §HF H 39 379 T 8 THT &I SITaT &7

(2 (\3 | CP= Boot500 A.40 years

CP~300 = 500— (P 2% % B. 30 years
G €35

Q0P 5 .35 years

P OCH%OQ D.45 years
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Question 12- A batsman has certain average in his 16 innings. In the 17

innings he scored 85 run then his average increased by 3 runs. Find the

average after 17" innings. g

T 12- Teh SlecdslTST shl 16 UTHAT H Ush S 379d 2T 21 17 ©Esh § 3|
85 T SHTT dl 3k ﬁﬂ?@% | 17 9T ok S1e 3NEd J1d shito|

%ﬂf'aﬁ avmqgg: @5 —[7X3 A.34

37

S : /540
= 343 |

e Bzf; D.33
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- "'& Question 13- The present age of A and B 8 years ago was in ratio
2:3. After 8 years this ratio becomes 3:4. Find the present age of A?
T 13-8 98 U8 A 3R B bl 9= 11T ol ST 2:3 AT| § NI o o1a

T AT 3:4 fg@ﬂ?ﬂiﬂﬁ?ﬁﬁlﬁ?
B A =R16+9

| : = Yo ‘z}r A.48 years

Jv&ﬁ&( \<3‘ : L\> e \63?7 RS BA40 years

C. 32 years

D. 36 years
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Question 14- Question 2- The ratio between the age of A and B before 10
year was 1:3. The ratio of there age 5 years hence will be 2:3. Find the

present age of B.
TH14- 1099 4 I8 A 3T B o1 371 o i< 31 AT 1: 3 A1 5 [ o oI1a

T STUTA 2: 3 BTN B Sl ScHIA ST ST shifsra|
A. 15 years
Homg wark
B. 20 years
C. 25 years
D. 18 years
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